
name
R type

date

format
draw. no.

AMERONGEN - NETHERLANDS

checkdrawn

revision

 

CDT-Grand

page 1/2A4
392**

SB
26-2-2019

1

2
3

6

74
5

4
5

8
9

10
11 12

13
14

15

16

17
18

18

19

20

20

21

22

23 23

24

25

26

27

28
29

30

31

31

31

32

6
6

33
34

18
18

35

36

37

38 39 4038
3940

20

20



name
R type

date

format
draw. no.

AMERONGEN - NETHERLANDS

checkdrawn

revision

 

CDT-Grand

page 2/2A4
392**

SB
26-2-2019

41A

41

42

43

43
44

45

46

47

48

49

51
50

52
53
54
51

55
56

57

58

59
60



SPARES LIST FOR CDT-Grand

Item Description Code

001 Floathood 54131

002 Float 12235

003 Rubber adapter 60015

004 Screw, 4,2x16, stainless steel 70032

005 Rubber sealing washer 61190

006 Outletpipe, 9 holes stainless steel (incl. 007) 53053

└ Outletpipe, 1 hole stainless steel (incl. 007) (CSA US) 53017

007 Rubber closing pad 63011

008 Coldwater container, 15 cups 11008

009 Lid coldwater container 13023

010 Barrier coldwater container 11306

└ Barrier coldwater container (CSA US) 11307

011 Rubber tube, 194 mm 60094

012 Tightening socket 12220

013 Switch pawl 54155

014 Glass tube, 208,5 mm 31153

015 Fixingplate microswitch 54151

016 Screw, M3x16 73000

017 Microswitch 16 Amp 43330

└ Microswitch assebmly (incl. 015-017) 43331

018 Screw, 2,9x6,5 73050

019 Handle left black, with feet (incl. 020) 11716

└ Handle left black, with feet (incl. 020) (CSA US) 11706

020 Rubber foot 61150

021 Supply cord, 3x1 mm² (EU) 44328

└ Supply cord, 3x1 mm² (AUS) 44383

└ Supply cord, 3x1 mm² (UK) 44323

└ Supply cord, 3x14 AWG (CSA US) 44391

022 Cord anchorage 78175

└ Cord anchorage (CSA US) 78177

023 Screw, 3,5x13 70055

└ Screw, 3,5x16 (CSA US) 70056

024 Housing CDT-Grand, 239 mm, polished silver 58100

└ Housing CDT-Grand, 239 mm, brushed silver 58102

025 Sealing ring, black 11401

026 Base CDT, polished silver (untill 12-2018) 55357

└ Base CDT, polished silver (from 01-2019) 55300

└ Base CDT, brushed (untill 12-2018) 55359

└ Base CDT, brushed (from 01-2019) 55301

027 Illuminated switch (untill 12-2018) 43038

└ Illuminated switch (from 01-2019) 43124

└ Illuminated switch (from 01-2019) (CSA UL) 43075

028 Indicating lens, orange 43669

029 Signal lamp 43670

└ Signal lamp (CSA US) 43648

030 Bottom plate 11380

└ Bottom plate (CSA US) 11379

Technivorm B.V. 1/2 26-2-2019



SPARES LIST FOR CDT-Grand

Item Description Code

031 Screw, M3x6 71060

032 Filterbracket 12786

033 Screw, 2,9x16 73065

034 Microswitch 43339

035 Fixingplate microswitch 54148

036 Control knob 16650

037 Front handle 11130

└ Front handle (CSA US) 11134

038 Capring 12331

039 Screw, 4,2x13 70040

040 Capcover 12332

041 Boiling element, 2200W/230V 45216

└ Boiling element, 2200W/240V 45217

└ Boiling element, 1600W/120V 45116

041A Thermostate/thermofuse combination 46255

042 Elementbracket, assembly 51494

043 Screw, 4,2x19 + washer 70081

044 Screw, M3x6 + washer 73031

045 Nut, M6 + washer 72110

046 Filter lid, pancake 13150

047 Fitler pancake, assembly (incl. 048-054) 13273

└ Filter pancake 13271

048 Rubber cover 62116

049 Slide 56984

050 Rubber closing pad 60070

051 Screw, 2,9x6,5 73060

052 Fixationstrip 56987

053 Closing arm 56980

054 Plastite screw, 8x40 71140

055 Brew through lid "Moccamaster" 30528

056 Lid thermos jug 30526

057 Sealing ring lid 30527

058 Thermos jug, 1,8 ltr. 30523

059 Footplate 16700

060 Measuring spoon 88104

Technivorm B.V. 2/2 26-2-2019


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2


